Sole UK Distributor,
Sealey Group,

Bury St. Edmunds,
Suffolk.

EALE

Issue No: 1

Date Issued: 130202

PARTS LIST FOR:
VARIABLE SPEED JIG SAW

Model: SJ E600V3

Item Part No.
332/135549019
332/135579002
332/134442611
332/130131601
332/134422281
332/130069071
332/134422251
332/763245124
332/130634181
10 CS 2.5M2CBLK
11 332/101204231
12 332/135579242
13 332/764020002
14 332/130139033
15 332/130139023
16  332/870800938
17  332/135523351
18 332/135521441
19  332/849071248
20 332/135579041
21 332/135523024
22  332/130823131
23 332/135575381
24  332/844800048
25 332/135509212
26  332/135579422
27 332/135501321
28 332/844800046
29 332/135575131
30 332/135575462
31  332/135541411
32 332/135523711
33  332/135506921
34  332/870802330
35 B/607ZZ
36 B/608ZZ
37 332/135578601
38 332/713721091
39 332/844305327
40 332/135513261
41 332/135513271
42  332/713920730
43  332/844800026
44  332/844800051
45  332/844800059
46  332/874900040
47  332/844305252
48  332/842209289
49  332/842010281
50 332/870800914
51 332/875101009
52 332/135514392
53 332/135519303
56 332/875401060
58 332/135511291
59 332/135261861
60 332/757000200
61 332/830400326
62 332/134442501
63 332/870800611
64 332/844800028
72 332/763526003
99 332/135573132
101 332/919210000
102 332/135571211

O©CoO~NOOOAWN-=-

Description

Motor Cover

Head Body

Air Guide

Rubber Ring

Brush Guide

Brush

Brush Spring
Switch

Sleeve

Power Cord Set
Cable Fastening Clamp
Condenser Group
Connecting Cable
Armature 230V
Field 230V

Washer
Counter-weight
Paper Joint

Screw, M4x8 DIN7506
Switch Handle
Gear Wheel

Lever Pivot

Handle Support
Screw, 4x16TP
Blade Support
Cover Complete
Small Cover
Screw, 4x12TP
Base Retainer
Aluminium Base
Motor Cover
Pendulum Plate
Washer

Washer

Bearing 607-ZZ
Bearing 608-ZZ
Ring

Needle Bushing
Screw, M6x15PZ
Gear Wheel Spindle
Pin

Needle Bushing
Screw, 3,5x12TP
Screw, 4x22TP
Screw, 4x45TP
Lock Nut M4
Screw, M4x12PZ
Screw, M5x14 DIN 6912
Screw, M5x8 DIN 912
Washer

Ring, 9x1 DIN 471
Control Base
Change Lever
Ring, 6 DIN 6799
Support Spring
Sealing Ring
Spring

Pin, 6x14

Brush Holder Support
Washer

Screw, 3.5x16TP
Speed Regulator
Pivot

Dust Nozzle
Transparent Screen

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.

| 01284 757500 01284 703534

E-mail: sales@sealey.co.uk




